
GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 

Sales +46 44 454 20 | info@glimakra.com | www.glimakra.com | Org.no 556120-7837  

VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

M O N T E R I N G S A N V I S N I N G  /  ASSEMBLY INSTRUCTIONS         

     2024 01 15

L i m b u s  A r r o w  C o n c e p t 
A r b e t s b å s /  Wo r k  b o o t h

Vi rekommenderar att du följer våra monteringsanvisningar för att säkerställa att din möbel från 

Glimakra of Sweden varar i många år. / We recommend to follow our assembly instructions  

to ensure that your Glimakra of Sweden furniture lasts for many years.

LIMBUS ARROW CONCEPT  
HÖJ & SÄNKBAR ARBETSSKIVA

LIMBUS ARROW CONCEPT  
FAST ARBETSSKIVA



S E

E N

1 . 2 .

3 . 4 .

1. Confirmation screw 7x40
2. Allen screw M6x20
3. Allen screw M6x35
4. Keyhole fittings (pre-assembled)

5. Countersunk Allen screw M6x30  
(pre-assembled)

6. Distance fork

1. Konfirmatskruv 7x40            

2. Insexskruv M6x20      

3. Insexskruv M6x35                  

4. Nyckelhålsbeslag  (förmonterade)

5. Försänkt insexskruv M6x16 (förmonterade)

6. Distansgaffel

6 .5 .

DECISION:

BESLAG:



E N      MOUNTING HOOK SCREWS

A. Screw Allen screws M6x20 (1.) into the 
upper holes of the front screens and adjust 
the distance using the spacer fork (5). 

In the first instance, the lower holes in the 
end screens are used. (If you have a larger 
set-up with workplaces that are repeated 
lengthwise with intermediate boards, it 
may be appropriate to use the upper holes 
on the intermediate frame on one side for 
the other upper holes on one side of the 
intermediate screen to make it easier to 
connect the parts B.)                                                             

(Due to different fabric thicknesses, the 
distance of the screw that the spacer fork 
provides may need to be further adjusted in 
or out in order to get a suitable inertia and 
tightness in the coupling C.).                                                             

S E       MONTERING HAKSKRUVAR   

A .  Skruva i insexskruv M6x20 (1.) 
i de övre hålen på frontskärmarna 
och ställ in avståndet med hjälp av                      
distansgaffeln (5). 

I första hand används de nedre hålen i 
gavelskärmarna. (Om man har en större 
uppställning med arbetsplatser som 
repeteras på längden med mellangavlar så 
kan det vara lämpligt att istället använda                                        
 de övre hålen på mellanskärmens ena sida 
för att lättare koppla ihop delarna  B.)                                                             

(På grund av olika tygtjocklekar kan 
skruvens avstånd som distansgaffeln ger 
behöva justeras ytterliggare in eller ut för att 
få en lagom tröghet  och täthet i kopplingen 
C.)                                                             

A



B

E N     REPETITIVE SET-UPS

B .  Single keyhole brackets may need 
to be turned when installing several 
interconnected assemblies, unscrew the 
keyhole bracket (3.) and turn it over and 
reinstall the screws (4.).

Screw in the hook screw (1.) to be used for 
the reversed fitting in the upper hole.

S E     REPETERANDE    

       UPPSTÄLLNINGAR 

B. Enstaka nyckelhålsbeslag kan behöva 
vändas vid montering av flera ihopkopplade 
uppställningar, skruva loss nyckelbeslaget 
(3.) och vänd det och återmonterara 
skruvarna (4.) 

Skruva i hakskruven (1.)  som ska användas 
till det vända beslaget i det övre hålet.



C

E N     COMPOSITION OF GABLE       

      AND FRONT SCREENS

C. Hook the end screens to the front 
screen; adjustment of the hook screw may 
be necessary if it is too slow or too easy.
If necessary, a rubber mallet can be gently 
used to bring the coupling together.

S E       SAMMANSÄTTNING GAVEL-  

       SKÄRMAR OCH FRONTSKÄRM 

C. Haka ihop gavelskärmar med 
frontskärmen.Justering av hakskruven kan 
behövas om det går för trögt eller för lätt.
Vid behov kan en gummiklubba försiktigt 
användas för att få ihop kopplingen.



E N     MOUNTING THE TABLE TOP

D. Screw in all the 7x40 (1.) screws in the 
front and end screens so they stick out 
about 30mm.

S E       MONTERING BORDSSKIVA 

D. Skruva i alla konfirmatskruvarna 7x40 
(1.) i front och gavelskärmarna så dom 
sticker ut ca 30mm.

L i m b u s  A r r o w  C o n c e p t 
m e d  f a s t  a r b e t s s k i va

D

E N     MOUNTING THE TABLE TOP

E. Insert the table top, making sure that 
all the screws go into the recesses of the 
mouldings.  
 
Hold the table top down and tighten the 
screws.

S E       MONTERING BORDSSKIVA 

E. Lägg i bordsskivan och se till att alla 
skruvar går i listernas urtag.  
 
Håll ner bordsskivan och spänn åt 
skruvarna.         

E



E N     MOUNTING THE LIFTING    

       COLUMN IN TABLE TOP

D. Screw the lifting columns to the table 
top with M6x35 Allen screws (2.). 

Do not finish tightening the screws until 
all are in and threaded correctly. Connect 
the lifting column connectors to the 
control unit, also connect the push button 
connector and the mains connector.

S E       MONTERING LYFTPELARE  

       I  BORDSSKIVA 

D. Skruva fast lyftpelarna i bordsskivan 
med  insexskruvar M6x35 (2.).

Slutspänn inte skruvarna förrän alla är i och 
har tagit gänga rätt. Koppla in lyftpelarnas 
kontakter i styrenheten, koppla även in 
tryckknappens kontakt och nätkontakten.

L i m b u s  A r r o w  C o n c e p t 
m e d  h ö j  &  s ä n k b a r  a r b e t s s k i va

D



E N     INSTALLING LIFTING  

       COLUMNS WITH TABLE  

       TOP IN SCREENS

E. Hold up the table top with the lifting 
columns and insert screws (M6x20 (1.) 
loosely into the upper and lower brackets.

Continue screwing in all screws, do 
not finalise until all are in and threaded 
correctly.

S E       MONTERA LYFTPELARE MED  

       BORDSKIVA I  SKÄRMAR 

E. Håll upp bordskivan med lyftpelarna 
och sätt i skruvar (M6x20 (1.) löst i övre 
och nedre fästena. 

Fortsätt skruva i alla skruvar, slutspänn inte 
förrän alla är i och har tagit gänga rätt.  
      

E


